explanation of A
C)A is true but R is false
D)A is false but R is true

D) 0ooo0oQino 00w o

The value of total potential difference created
between the electrodes, when the cell is not
connected to an external circuit is known as its: -
A)Electromotive force  B) Electrostatic force
C)Electromagnetic force

D)Electrochemical force

00400 0] 000 00joo 0o Jooo ooo O o0o, ool
0000 000 ool 000 0ol o, (30 oooal o: -

A) l000o 0oloo 0o B) o0J<4lJn0 oo

C) 0000 000 00 D) 00000 oio0doloo 0o

A 4Q) resistor is connected in series with a 10 mH
inductor, across a 100 V, 50 Hz voltage source.
The impedance of the circuit will be -

A) 5-j3.14 B)5+j3.14

C) 4-j3.14 D)4 +j3.14

C04Q ot 10 mH 000 ) 000 100V, 3
ol00o 0 O oloOoolod oldbs0O 0000 oo

(000000 o000 :
A)5-j314 B) 5+j314
C)4-j314 D) 4+;314

A 1pF capacitor is connected to 12 V battery. The
energy stored in the capacitor is:

00 1yF 0000T 12V 000l 03 000 00 0ojoT o6 @oal

A) 12x10% ] B) 24x10°J A) 12x10°J B) 24x10°J
C) 36x10°J D) 72x10% ) C) 36x10°J D) 72x10°J
An open coil has — 00 000 ooal o6 ool o -

A) zero resistance and zero inductance

B) infinite resistance and infinite inductance
C) infinite resistance and zero inductance
D) zero resistance and infinite inductance

A) 0q 00000 0o 0q 00Ooo
B) 000 Ooolo 0o ooo 0000
C) 000 Oooo 0o 0oq 0OJoo
D) 0q 00o0lo 0o ooo DOJoo

Determine the value of load resistance, R for
which maximum power will transfer from source to
load —

A) RL=8Q B)RL=15Q
C) RL=4Q D)RL=3Q

0lo 00o0o, Re o0 oo Ooofoo oo, (oo oo doo ol<e
(o o olo o6 3u0olopo ol -

6Q

—.12V § Ru §2 Q (T 8A

A) RL=8Q B)RL=15Q
C) RL=4Q D)RL=3Q

If a 12Q resistor draws a current of 1A as shown in
the figure, the value of resistance R is -

0lo 0o 12 @ 00o0loo 00O 1A of olof 0oloo odol o doj
10007 06 Iooiol oo0 0, D0oolo R 00 oy 10 d0o0-

-—’\;‘n -—-—vawﬁ 10 R -
2a (D 1A= 120 —_i,—ev 2A<f; 1A= 120 —_II_—ev
A) 4Q B)6Q C)8Q D)18Q |A4q B) 6Q 0)8Q D) 18 Q
Twelve 1-ohm resistances are used as edge to form | 0o oo coio(] ] Too cooo 1-00 000200 o TImv o
a cube. The resistance between two diagonally 06 0oolo [oo0 ool 0o 0o0OT 03 [ooo oo (300
opposite corners of the cube is: (ooojo 0ol ] o0o Oioodo (30 o0l
A) 5/6 Q B)1Q C) 6/5Q D.32Q | A5/60Q B) 10 C) 6/50Q D) 3/2Q
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C)AB + ACB D) AB+AC +BC

10. | PLAs, CPLDs, and FPGAs are all which type of 10000(PLA)s, CO0000I(CPLD)s 00 1000000(FPGA)s O]
device? (000000 dd 00ooo 02
A) SLD B) PLD A) [000OI(SLD) B) oCCO(PLD)
C) EPROM D) SRAM C) 710 (EPROM) D) '0'[]17(SRAM)
11. | To multiply a number by 8 in 8085 Microprocessor | 8085 “[-[ ][]0 07 06 00 09 8 0] cil] o 11
we have to use RAL instruction: 000 006 00000(RAL) (00" O 00 00000 J0000 @ook:
A) Once B) Twice A) 00 0o B) ol 000
C) Thrice D) Four times C) olo oo D) 100 00
12. | ASCII code is used as — 000NASCI) 000 0l ooolo (oo o000 (o0 ool o-
A)An alphanumeric Code  B)A Weighted Code | A) ©0 cec (00 00 B) 00 oo o
C)A Cyclic Code C) 00 00 oo D) 00 oinlnOloo ol
D)An Alphabetic Code
13. | Decimal Number (85)10 is encoded as 11000101 in | 0700 096 (85)10 0[] 11000101 (L] VO 06 O
- oo ool oo -
A) 8421 Code B) 2421 Code A) 8421 0[]0 B) 2421 ([0
C) 4421 Code D) 2221 Code C) 4421 1[I0 D) 2221 170
14. | The circuit given below is functionally equivalent | c7o0] 007 ool loo 008 0 Vo ol oo oy o
to: s £ . e
% 1.2
A)Inhibit Gate B)NAND Gate A) 0000000 0ddo
C)Full Adder D)Comparator B) 10000 D(NAND) 0[]0
C) 00 000 D) noodidoo
15. | What is represented by the digital circuit given in 0003 000 0o 00T 06 (oo oo (olooo oloo (MC®oil
the figure below: oo0 o
A) AJ-KFlip-Flop with A=J and B=K. A) A=J 00 B=K [ 00 JK4A-4l
B) An S-R Flip-Flop with A=S and B=R. B) A=S 10 B=R [[] [0SR -4
C) An S-R Flip-Flop with A=R and B=S C) A=R 10B=S ([] (1SR A -4
D) A J-K Flip-Flop with A=K and B=JJ. D) A=K 00 B=J ] 01K -4
16. | The phase correcting circuit is: [0 0 odl<40 oloo 1 o
A) High—pass filter B) Low—pass filter A) 002 -0 [0z0 B) (04000 [Dz0
C) All—pass filter D) Band-pass filter C) 00-100 I0z.0 D) 00-100 10z.0
17. | The response of an LTI/LSI system is given by the | cooioo/cocoon(LT/LSY) 0000 00 D007 o0 coos oo
of input and impulse response: 000 f0olT o0 (000 ol ofol o:
A) Convolution B) Correlation A) oo B) ooooo
C) Superposition D) None C) oJloo D) 000 O I
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B) The value of sensitivity on the highest scale

C) The value of sensitivity on the lowest scale

D) The smallest signal which result in a detectable
output

C) Oooo ™ o oo opOooolool of odo

D) 0000 ool oD 0 lootd opodo<4vVo mod ool

00 0

20. | Ratio error in the current transformer is attributed | o0 o0 clooion 06 00000 TOO () Doo [0 [ 2
to: A) [0ooa of oo 040
A) Power factor of the primary B) (oo 00
B)Leakage flux C) OKJIoo 07
C)Exciting current D) 00ooo] 06 oo Of oloodo 0oo
D)Wattless component of the current in primary
21. | The memory that communicates directly with CPU | 10100 (CPU) (L] o0 ool ool noold o0 I
is called: oooal o
A)Auxiliary memory B)USB storage A) n0O0oo0] odo0ol - B) 0oo00(usB) 0o00
C)Main memory C) 0o oodal D) 00001-00000 cOoOd]
D) Micro-Program Memory
22. | The following property of semiconductors cannot | 00004 (0] 1000000 00 o0 000 o<k 00 o]
be determined from Hall effect: Jool o0 oool o
A) Semiconductor is n—type or p-type A)n- 000000 p - 0000 O 000000
B) The carrier concentration B) 00oo ooOfa]
C) The mobility of semiconductor C) noo0oo o0 oloodool
D) The atomic concentration of semiconductor D) DO0000 00 0oolo 00500
23. | The components of full-wave voltage double 0o-000 00000 16 oloo dd ooo o0oo0) o:
circuit are: A) 2 0000 001 0ploT
A)2 diodes and 1 capacitor B) 2 0l0lo 00 2 ooloT
B)2 diodes and 2 capacitors C) 4 00000 00 1 OooT
C)4 diodes and 1 capacitor D) 4 000lo OO 2 OOfeT
D)4 diodes and 2 capacitors
24. | Fermi level in a p-type semiconductor lies close to | :0-07C o[J0oo4r o6 oo™ ooion 0é [mMiooio
which one of the following? o000 0?
A) The top of the valance band. A) 006000 dd odooo
B) The bottom of the valance band. B) 106 0 oo oo oo
C) The top of the conduction band. C) OOAD 00 O oo oo
D) The bottom of the conduction band D) DOAD 00 (0 0o oo
25. | A region of negative differential resistance is 000006 0 0oo D0oolo 0 oo OOIT lo0oooo ojoo 0«0
observed in the current voltage characteristicsofa | t[ 00 010 coJooio o6 ol o0 -
silicon PN junction if- A) P- 00T 0o N- 00T 00 o0 ol vio o oo oo
A)both the P-region and the N-region are heavily B) N- OOT 00 P- 00T ol 000l 06 050 0000 HImo]
doped 00
B)the N-region is heavily doped compared to the P- | ¢) p- (J[JT o) N—- (JIT ©7 0000 06 050 2000 @
region D) 00 Oooo [0loolo 00T P- OOT oo N- OOTE 00
C)t_he P-region is heavily doped compared to the N- | 5 0t 300000 0000 o0l 10
region

D)an intrinsic silicon region is inserted between the
P-region and the N-region
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by applying +ve bias to gate

D) 0o o0 + ooifo 00 oo oo 150006«
(MOSFET) L] Vooé oooolod ol oool o

27. | The I-V characteristics of three types of diodes at nOmoo4a0X Yooz o o@D oo 0ol (0 @D- Vv
the room temperature, made of semiconductors X, | o000 oJ oilq o o0 T o6 Doidonl oo
Y and Z, are shown in the figure. Assume thatthe | .0 000 000 vo o 00000000 oo ool oolo o
diodes are uniformly doped and identical in all Olooo ool odool 06 oolo 02 000 EgX, EgY 00 EgZ 1000
respects except their materials. If EgX, EgY and X, Y00 Z ] ooooooo, Ol
EgZ are the band,gaps of X, Y and Z, respectlvely,
then / / / / / /!
A) EgX>EQY>EQZ A) EgX>EgY>EgZ
B) EgX =EgY =EgZ B) EgX = EgV = EgZ
C) EgX<EgY<EgZ C) EgX<EgV<EgZ
D) No relationship among these band gaps exists | py - 000 ] 0700 000 o0
28. | The large signal bandwidth of an op-amp is limited | oo JCC or2l0lC (op-amp) 7 0DZ - 1V
by its: oo0o0o [oodd O] odloo oood o:
A) Loop gain B)Slew rate A) 0lo oo B) 0000 00
C)Output impedance D)Input frequency C) 00000 J0oolol D) 0000 DOIK
29. | In a full wave rectifier with input frequency of 50 50 000 Of 0000 00K 0 000 00 00 000
Hz, the frequency of the output is: 40000 06, ooooo of ooK jooo] oiol o:
A) 200 Hz B) 150 Hz A) 200 L[ B) 150 _C
C) 100 Hz D) 50 Hz C) 100 " [ D) 50 [C
30. | In asingle stage RC coupled CE amplifier, phase 100(CE) orololoo oz 0 000 000 DO00(RC) 06,
shift at lower 3-dB frequency is — 1043-dB 00K 00 ] 0 [0 [0 200l -
A) 0 B) 135° (C)180° D)225° A0 B) 135° (C)180° D)225°
31. | FET phase-shift oscillator uses — OOCOL(FET) (D 0-104 0l4Won ol ooio
A)Voltage Series feedback oool o -
B) Voltage Shunt feedback A) 0lCJd0 Jooo oloodo - B) 0lJO0 00 00000
C) Current Series feedback C) 000 (oolo oloodo D) 000 00 oloodo
D) Current Shunt feedback
32. | The 6V Zener diode as shown in the circuit below | o0 700 00 oio0 0@ 0000 oo eV oo (oo @ oo

has zero Zener resistance and a knee current of 5
mA. Then what is the minimum value of R so that
the voltage across it does not fall below 6 VV?

S50
. 1—[[—'\/\/\/\, _ % %R
A) 1200 Ohms B) 80 Ohms'
C) 60 Ohms D) 40 Ohms

00oto 0o 5 mA 0 0] oo or oo R 00 Oooo 0o 1]
yololloooo oJdoe voLd oo ooole

o 2

s02
A ;
1 %R

10V —

A)1200 110
C) 60 [0

B) 80 000
D) 40 10
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35. | A lead compensator network includes a parallel 000 0ooodoo 00000 06 Oloooo 00 06 R Moo
combination of R and C in the feed forward path. If | ©-0:00 0000 o000 (00 oooodon o0 3000000 oo
the transfer function of the compensator is G(S) = | G(S)=(s+2)/(s+4) ¢, 7. RC o] 700 [ 0-
(st+2)/(s+4), the value of RC is- A 2 B) 1 C) 0.25 D) 0.5
A) 2 B) 1 C) 0.25 D) 0.5

36. | Which of the following statements is correct fora | [0(l0- 00 o6 o o0 o0 oo oo 00000 (] oo @
system with gain margin close to unity or a phase | "0006 000 (oo co0o () ooo oo () toeq (0
margin close to zero? nolo?

A) The system is relatively stable A) o000 ood0Ioo 1300 0

B) The system is highly stable B) 00010 OWIDDO 300 ¢

C) The system is highly oscillatory C) U000 oWIno olooodo o
D) None of the above D) 00004 06 00 00 ol

37. | Which technique gives quick transient and stability | oo 00 cooio apo Cooo oo 23000l D0olr o0 102
response? A) Vo oloo B) 110
A) Root locus B) Bode C) (oo™ D) (ot
C) Nyquist D) Nichols

38. | By increasing impurity content in the metal alloy, | 70w 070 06 00500 000 oo o0, oolo M-
the residual resistivity always- A) ool O B) 000l O
A)Decreases B)Increases C) Boooool O D) 00000 40T ol afol O
C)Remains constant
D)Becomes temperature independent

39. | Electron occupying the ground state is at its: - 10400 00300 00 00040 ooal 00 oial o
A)Lowest Energy Level B)Fermi Level A)oood ooool™o B) 0o ™0
C)Highest Energy Level  D)Zero total energy Level | C) bz 00 (101 ™ ¢ D) oq oo om™:

40. | For an FM receiver with an input signal-to noise | oo oooopodon (0] o0, foood coon o] #3000
ratio for 29 dB, a noise figure of 4 dB and an FM | 29 (000 0, 0000 4 00000 00 0000 ool oo 16 00
improvement factor of 16 dB, the pre-detection and | - [J-ni(J-a0 00 ™A
post-detection signal to-noise ratios are: 0 o-000 ooido O:

A) 30dB and 41 dB B)30 dB and 49 dB A) 30 0007 00 41 o0c] B) 30 0070 0749 000
C)25 dB and 49 dB D)25dB and 41 dB C) 25 000 00 49 0000 D) 25 0000 00 41 000l

41. | Noise is added to a signal in a communication 0000 00000 06 odd 006 Oio o0 oiod olol 0
system A) 000000 0o oo
A) At the receiving end B) 00o0000o oolol oo
B) At transmitting antenna C) oo b
C) In the channel D) 0ool dJ 00000 O ololo
D) During regeneration of the information

42. | The analog signal m(t) is given below oololo [0vo m (t) 00od ool ool g,

m(t) = 4cos100xt + 8sin200xt + cos300mnt,
the Nyquist sampling rate will be:

A)1/100 B)1/200
C)1/300 D) 1/600

m (t) = 4cos100xnt + 8s5in200mt + cos300mt,
JoJo™ o6 oo oo Jo4 000k
A) 1/100
C) 1/300

B) 1/200
D) 1/600
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C) An intedrator
D) A Voltage-to-frequency converter

C) —Di -
D) nJJ0-00-00IK 0oooo

45. | Range of frequencies allotted for commercial VHF | DIo0000 cieoon ool 0ooon (0] 00 (il
TV broadcast is- 00IKO0 00 0000 o-
A) (470 - 2300) MHz B) (470 - 2300) kHz | A) (470 - 2300) “[J000  B) (470 - 2300) (000000
C) (47 - 230) MHz D) (47 - 230) kHz C) (47-230) 0[J000]"0 D) (47 -230) (070000
46. | If an FM wave is represented by the equation 000 0000 000 U0 e= 10 sin (9x 10%t + 4 sin 1500
e= 10 sin (9x 108t + 4 sin 1500 t), then what is the | ) ~-[0000 000 o0l 0000, o0 000 D0K
carrier frequency? (0 o0ae?
A) 127.32 MHz B) 200.00 MHz A) 127.32 0[J7000 B) 200,00 C000C] o
C) 286.62 MHz D) 143.31 MHz C) 286,62 UCJ000-(]" 0 D) 143.31 1000000 0
47. | The process of assigning a discrete value from a | “o(Jo o] 0 i) 007 o206 ol WO modd
prescribed set of a finite numbers of such discrete | noo (000 (0 o0 0900 ) o 0o ol oooo
values to each one of the sample values of the | " o0 70 oo ol Doy o0 ol 000 o0 o
message signal, is called :
A) Filtering B) Noise removal A) [0z[0 B) It OJoo
C) Decoding D) Quantization C) loodioo D) 000
48. | How many bits are required to encode 64 level 64 ™0 ] 0olodoo o0 oo oooO) dJ (oo [mmon
PCM? 00400 ool a0?
A) 7 B) 6 AT B) 6
C) 5 D) 4 05
D) 4
49. | Bandwidth is determined by the minimum pulse I000oloo 06 o ooo6é Oooo 40 00 000 do
width in which of the following- Ioofoo ol ool O -
A) PPM B) PDM A) 100000 B) 000000
C) QAM D) All of these C) (Jooo D) 000l o0l
50. | The electric transmission of a document at a distant | 7007 0100 J0 00 0030 3000 o0 cJololo Ofoter
place via telephone line is called — 00 [oooo opoo od oo0 ool O
A) Modem B) Radar A) Jo0do B) 100
C) Fax D) None of these C) UA D) 0006 o[ 000 ool
51. | In optical communication, wavelength 1550 nmis | c(eo 000 06, D000 1550 nm L0006 00T 00
used nowadays. What is the possible reason? 0000 oo oofloo o0oo (30 02
A)Dispersion is very low A) 0000050 000
B)Loss is very low B) Ol0 050 00 O
C)WDM is feasible C) 0[Jo0oo oo 0
D) Optical amplification is feasible D) 0000 0000 000 O
52. | Which type of fiber optic cable has/have its/their 1000000 O 00od Doed (3 00 0J 007 480 umX0 00

core with the size of about 480 um to 980 um &
made up of polymethylmethacrylate (PMMA)?
A) Glass fiber optic cable

B) Plastic fiber optic cable

C) Plastic clad silica fiber optic cable

D) All of the above

980 ym ] 00O 0l 00 o00loodooodonlTodo
(PMMA) 0] (0000 0o o2

A) (010 0looo OfkD 7 00

B) (JI™ 0 0looo oo ) OO

C) O™ 0 <0 Joioo0 ofooo oo el (L] 00

D) 0004 O]
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B)High power oscillator C) 104 000 opololoo D) Oloodoo ool
C)Low gain amplifier D)Not an oscillator
55. | The Poynting vector measures: 000iUo oloo odoo] o:
A) Power B) Energy A) 114 B) (0]
C) Energy Density D) Power Density C) 00l oo D) (14 070
56. | Which one of the following modes has the highest | corior of)ooioo 06 oo 06 o] @iio oé
cut-off wavelength in a rectangular waveguide? 0000 oloo 0o-00 00ood o ojdl 0?
A)TMu B) TMoy A) TM B) TMo,
C) TEOl D) TElO C) TEo: D) TE.0
57. | If the maximum and minimum voltages on a| ‘00 00000 (0o o0 oloood o0 ooo (o 7o
transmission line are 4V and 2V, respectively fora | 4v oo 2v o, o o0 idq o0 ) Toiooooo
typical load VSWR is: (VSWR) [0 00
A) 10 B)0.5 A) 1.0 B) 0.5
C) 20 D) 4.0 C) 2.0 D) 4.0
58. | An antenna above its critical frequency is- 00u00 DOIK 0 000 00 o000l o000 0-
A) Resistive B) Capacitive A) I000oo B) 00T
C)Inductive D) Any of the above C) 0O D) 000l 06 0 0o 0l
59. | IEEE has defined the specifications for a wireless | 0oooo o] oiocoJo coood (0] o0 ool dpo oo
LAN, called , Which covers the physical | 10070, 1000 000 o000 0, of oo
and data link layers. 00 ool [oo ooo] of oolioo oood an
A) IEEE 802.3 B)IEEE 802.5 A) 00000 802.3 B) U0 802.5
C)IEEE 802.11 D)IEEE 802.2 C) 00000 802,11 D) 00000 802.2
60. | Which of the following is true regarding the 0looooo O ooo 06 oOloloo o6 o odo o0molo?
VLANS? A) 000 oo oo odll4:0 00000 06 00 ol
A) You must have at least two VLANSs defined in | t7oo000 ooZon (0o oloos
every Cisco switched network. B) 00l 0000000 00 000071 0000 <0 00 000000 G000
B) All VLANSs are configured at the fastest switch | 7700 7, 40 oo v o0, o0 oo o0 0@ o0l 24
and, by default, propagate this information to | ¢ (700 oo oo
all other switches. C) 00 o] oloio] 00000 06 10 00 0loo (40 a0
C) You should not have more than 10 switches in | 7
the same VTP domain. D) ool Ol ooodo ool @loCdo 06 140 oliooo @O
D) VTP is used to send VLAN information to | \oo oocoos oo cljoo) o) o0 o ool o
switches in a configured VTP domain.
61. | Which of the following is wrong example of I0000oloo 06 o0 o0o odooo 0doo 00 000 Ofm?

Network Layer?

A) Internet Protocol (IP) — ARPANET

B) X.25 Packet Level Protocol (PLP)-1SO

C) Source routing and domain naming-USENet
D) X.25 level 2-1SO

A) [0 0000000 (Do) - ARPANET

B) X.25 0[] ¢ oJoo Joololo (PLP) -1ISO
C) 100 vOoo 0o t0cdo 0[I00-USENet

D) X.25 0[]0 2-1SO
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D) The broadcast address of the subnet is
10.16.3.241 255.255.254.0.

63. | The network address of 172.16.0.0/19 provides 172.16.0.0/19 00000 000 Ioood ooodo oo Mool
how many subnets and hosts? 9
A) 7 subnets, 30 hosts each A) 7 000dn, 30 (™ 0w
B) 8 subnets, 8,190 hosts each B) 8 100, 8,190 ™ UWLII
C) 8 subnets, 2,046 hosts each C) 8 nordn, 2,046 ™ (WD
D) 7 subnets, 2,046 hosts each D) 7 00 [0, 2,046 ™ OWCIO
64. | Which of the following is true regarding access | ©oo([] 0 o0 000 oo ool i) o] 26 6
lists applied to an interface? 0] o0o of oo ood 0?
A) You can place as many access lists as you want on | A) (10 000 07 cool ] 0oon Tood 00 oo o
any interface until you run out of memory. 000 00 0o0od 6, 00 00 oJo0d ool™ oo
B) You can apply only one access list on any | gy ;o 1007 07 oo o o 0 00 00 o] CLIm0 0
o) O aomsss list may be configured, per direction, | 2070 O
ne access list ma e conftigureaq, per airection, 7 e o . N N
for each layer 3y protocol gconfig%red on an ?) ?] *QD[ ]D ’UW_DE 000 3 10200 moimo Jo
interface. 1005 Bidiooo Bl 07 0oojo ¢
D) You can apply two access lists to any interface. D) Eé ioof o aoof] 000 0F 01010 0ol ojo 00
000 O
65. | Which of the following is not a layer in the TCP/IP | 000 / 0020 (o o6 Tooios 06 o] [0 mel 02
model? A) tletd 00 B) oo
A) Application B) Session C) nloolo D) 00000
C) Transport D) Internet
66. | Which statement about IPv6 addresses is true? 0oolole 0oo d oidd od o0o o] ooo oo 0?
A) An IPv6 address is 128 bits long, represented in | A) 1000006 00 128 00 0o 00l 0 D cO oo
hexadecimal. 06 00000 odl oo
B) An IPv6 address is 32 bits long, represented in B) 0000ol6 000 32 000 ool ool o, loo] 1 moé
hexadecimal. noiod ool oo
C) An IPv4 address is 128 bits long, represented in | ¢) 010706 ©00 128 70 00 0000, 1000 (LTS 001
decimal. 000l oo
D) An IPv6 address is 32 bits long, represented in | py 16 10032 700 00 s ool )00 6
decimal. 00000 ool oo
67. | PSTN stands for 0oooloo o0 oo @
A) Personal switched telephone network A) 00001400 0000000 000D
B) Personal switched telephone node B) 0000 1400 0do0olo olo
C) Public switched telephone node C) My 0 l4.00 1000l oo
D) Public switched telephone network D) Oy 01400 00J0000 odooo
68. | In telephone systems, load is expressed in the unit | (07070 007000 26, 070 T00 200 06 D4 [1I-
of- A) 100 B ododoo C) noo6 o D) [
A)Bells B) decibels  C)erlangs D) watts
69. | In which frequency range do the cordless phones 100 00K o6 006 ol oloo ol 0o 000 a2
mostly work? A) 88-108 L[]0 000 B) 43-50 0ol o
A) 88-108 MHz B)43-50 MHz C) 540-1600 (00000 D) 200-540 (00000
C)540-1600 kHz D)200-540 kHz

Page- 8




B.Saubhagya Scheme B. 0000CI0 oloal
C. Atal Bhujal Yojana C. 000 000 olool
D. National LED Programme D. 0000 ooood OloT O

2 | Which among the following is not a Tiger reserve? | [0[l0 00 o6 0] o0ocd clooo oo oo 02
A.Pench B. Kanha A 6L B. (05!
C. Bhandhavgarh D. Palamu C. 10oooo D. 0700

3 | Who won Five international gold medals in just 2019 06 1 00 00 oo 06 o ooollo 4000
three weeks in 2019? 10000 olode?
A. Sakshi Malik B. Hima Das A ol oo B. (o0 0o
C. Deepika Kumari D. PV Sindhu C.0[lnol oodd] D.00. 0 (o0

4 | What is MPATGM? MPATGM [ C?
A.India’s indigenous anti-tank missile A. 0o 00 400700 000 0o (oo0oo
B. India’s Advanced Multi-role Combat Aircraft B. 0000 00 oy0 0500000 0000 [oo0o-
C. Self Propelled Howitzer manufactured by L&T | €. o0 oo 00 007 7000 ole D000 © (107
D. None of the above D. 00«4 06 0O o0o o

5 | Which of the following schemes aims to transform | 7070700 06 o] 000 o0 olool oid of [0loon VIO
India into a digitally empowered society and knowledge | 710 o0 yio 00Do3] 06 “oool] o0l ok D009
economy? A. [0looo doal B. 0000 0loo
A. Digital India B. Skill India C. 000o 1000 D. [Jiono dinol
C. Uddan Scheme D. Startup India

6 | What is the position of India in the World Bank’s ease | [7v 00 002020 0] 00 00 000 [e0000 pol0 06 ol 300c
of doing business 2020 report? 009
A. 631 B.77"  C.79" D. 62" A63 ] B. 77 .79 1 D. 62

7 | Which of the following schemes aims to promote jo00oloo 06 o o0o o0 oloo! oo o3tdol o6 o
infrastructure development in educational institutions? 000006 O [0000 Of oo0ol ol ol 0?
A. HRIDAY B. PRASAD A. 1000000000 B. 100000000
C.RISE D. NESIDS C. 0000000 D. 00000000000

8 | Which of the following is considered as India’s I000ioloo 06 00 oo oo ol o0ool tlooal dmn?
coal capital? A. (0000 B. 00000 C.0oold D. 000
A. Singrauli B.Talchar  C. Dhanbad D. Korba

9 | Dhokra craft and bhitti chitra are the arts and craft | 070700 0] o] o0 00 06 (0000 1o 00 KM O]
in which of the following states? 00 (0B 07
A. Jharkhand B. Chattisgarh A 00100 B OKIOOO C. Doloo D. (00000
C. Nagaland D. Mizoram

10 | Which of the following states has an Elephant | 0200 o6 o] ‘o0 c0 06 o000 oo ool @
Festival which includes a tug-of-war between | 10006 000 o0 00 (00 000 oA l00l 00l 09
humans and elephants? A o B.0003000
A Kerala B.Rajasthan C.0looold D.OT 00
C.Tamil Nadu D. Andhra Pradesh

11 | Which of the following states does not fall under 001000 06 00 000 00 000 oQyod 000 (0 dmodl

Western Ghat?
A.Goa
C.Karnataka

B. Maharashtra
D. Gujrat

oogo?
AT
C. oo0lno

B. ooOol
D. 0070
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14 | Which of the following cricket player scored three | 0007000 06 000 T00 (T 0 lo00ol o] oo [l
double centuries in ODI cricket history? 0T (] 0 oioodo 06 0o oiood 00O oolo 0?
A. Rohit Sharma B. Virat Kohli A. 00000 000 B. (0000 oOooo
C. Sachin Tendulkar D. Ravi Shastri C. 00oo 06 0000 D. 0o 0ld]
15 | India is planning satellite surveillance of ships with | 0700 ‘o000 06 o oo oo i ol oolo b
which of the following country? 0000000 o0 olood ool ool 0?
A. France B.USA C. Russia D. SriLanka | A, [0 B.Oo0OD C. Vi D. [Jlooo
16 | Which is the next number in the given series? 00 00 Ooo0 06 oool 0960 olood 0?
6, 15, 36, 75, ? 6, 15, 36, 75, ?
A. 231 B. 138 C.214 D.216 | A 231 B 138 C 214 D. 216
17 | The average age of a class of 40 students is 12 | 40 00T o0 00 000 00 000 00 12 00 00 0o
years. If the teacher’s age is also included, the | 740 °J 0 o0 0lJ700 07 000 0, °0 000 D000 0000
average age increases by one year. The teacher’s | 07 o0 lnt0 0] 00 ool 02
ageis: A 5200 B 5301 C. 5170 D 5400
A.52years B. 53years C.51years D.54 years
18 | A merchant sold an article for Rs 75 at a profit 00 D00l 00 o000 Oy 03 ooloo odo 00ooo meSo00d
percent equal to his cost price. The cost price of the | 0¢ 10 0[] 0l o] o0 0o oy L0002
article was A 4580000 B. 50 § 0[]
A.Rs45 B.Rs50 C.Rs54 D.Rs60 | C 54§00] D. 60§00
19 | Zinc and copper are in the ratio of 5: 3in 200 g of | 200 [J°C oW 070 06 0L 0o 00 503 () cofloéo:
an alloy. how much grams of copper be added to | coo0o 3: 5 colof] ) [oo looold) 00 oo ool oot
make the ratio as 3:5? 0loo?
A.1331/3 B.1/200 C.72 D. 66 | A 1331/3 B 1/200 C 72 D. 66
20 | A, B and C working alone, can do a piece of work | A, B 00 € 0l o] 0o 0oold 50 0o oo o 7l
in 11 days, 20 days and 55 days, respectively. How | 710, 20 700 0055 100 06 000 00 000 A OB 1!
soon can the work be done if Ais assisted by B and | o7 o700 o] co000D o0 ool o, o0 lonol ath oo
C on alternate days? 1000 of oood 02
A.7days B.8days C.9days D.10days A 700 B.8 1l C.9 [ D. 10 (17
21 | Seven men can complete a piece of work in 12 | ;o §0 12 000 06 oo olooof oo ooold o0 8 o
days. How many additional men will be required to | ©7000 00 o0 coold 0 D00 looold ol o8l ol
complete double the work in 8 days? 004000 100l
A. 28 B. 21 C.14 D.7 A 28 B. 21 C 14 D. 7
22 | A train of length 150 m takes 40.5 seconds to cross | 300 “[Joc oo oo (0o ool o] Joo oioo oo oo
a tunnel of length 300 m. The speed of the train (in | 1500040.5 0100 C0 000 0000 00 oo o o
kmph) is 10000000 000 0ol o 0 0?
A.13.33 B. 26.67 C. 40 D. 400 A 13.33 B. 26.67  C. 40 D. 400
23 | A goeson a picnic trip and meets awomen Bwho | A 700700 oo oo 00 0 o0 oo 000D B of] oot A O
is the sister of A’s wife. how is B related to A? 000 0 000 doB, A 00 100 0000 ooloo 0?
A. Sister B. Sister-in-law A 000 B. (0™ 100000
C. Brother D. Brother-in-law C. 00 D. (r0oo
24 | Which fraction is the largest? 000 of ooolo oood oo0 o2
A.1/2 B. 4/5 C.5/8 D.7/10 | A 1/2 B 4/5 C. 5/8 D. 7/10
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hadl

price of 20 books, the loss per cent is

00000 0, 00 0onlo of tio0o (ooa) olal

A. 16 B. 20 C. 24 D. 25 |A 16 B. 20 C 24 D. 25
28 | If A and B together can complete a piece of work 100 A 00 B 0000 00 000 00 15 (000 0 00 mIoo
in 15 days, and B alone in 20 days. In how many 0 00 B oo0 o0o of 20 000l 0] oood o ol oolodo o0
days can A alone complete the work? A DI 00 o000 (ool 00J 00 OoJ o
A. 60 B. 45 C. 40 D. 30 A. 60 B. 45 C. 40 D. 30
29 | What is 5% of 50% of 500? 500 ] 50% (15 % 000 02
A.125 B. 25 C.1.25 D.6.25 | A 125 B. 25 C 1.25 D. 6.25
30 | Ram’s salary is increased from Rs 630 to Rs 700. 1000 ooo 630 $ood 000 0000 700 SoCool:

find the increase percent
A.101/9 %
C.1119%

B.91/9%
D.121/9 %

(0000 o] 005 o0lo @
A 10 1/9 %
C111/9%

B.91/9%
D. 121/9 %
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